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A knot diagranﬂ C4 €1 C7 Cl0 Ce

Ideals for irreducible component#ﬂ)f Xpar

I = (u® + e+ 2u? 1)

* 1 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIy = (u®4+ut” 4. +2u? + 1)

(i) Arc colorings

w-(3)

ag =
az =
ag =

ag =

w? —5ut +9u® —6ub +u?+1
u — 6u? + 13u!0 — 10u® — 2ub + 4u* + u?
—ut+ul+1
—ut 4 2u?
—uM 4+ 4u® — 44" — 205 + 343
—ul 4+ 502 — 8u” + 3ud +ud +u
—u? + 12027 + - — 2uP
—u?? + 130+ 4+ 3ud +u
—u?T 4+ 200 + - — 8ub + 4uB
—utT 4 21u* - 2ud

w3 —13u® + -+ 202 + 1
ai2 = \y3? — 14u3° + - - — 20u® + 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® +80u*® +--- + 8u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u®® — 1107 4+ .- — 336u + 41
C2,C3,Cs u® — 202 41
cay 7 u®® + ot 4 4 150u + 61
Cs5,Ce, C10 U48+U47+"'+2u+1
C11,C12
Co u® +3ut 4 du 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y*® + 9y ... 421912y 4 1681
C2,C3,C8 y'® =43y oy 1
C4,Cr y*® — 27y + ... 4 17760y + 3721
€5, C65 C10 v B 61yt Ay +1
C11,C12
Co y T+ =362+ 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

—0.984705 4 0.1701901

0.63620 — 3.074001

—1.42622 + 5.043361

—0.984705 — 0.1701907

0.63620 + 3.074001

—1.42622 — 5.043361

1.034970 + 0.2298301

9.29821 + 4.640781

0.19063 — 3.743911

1.034970 — 0.2298301

9.29821 — 4.640781

0.19063 + 3.743911

0.821678 + 0.1192031

—1.80692 — 0.009931

—6.31095 — 0.291601

0.821678 — 0.1192031

1.80692 + 0.009931

—6.31095 + 0.291601

0.697074 + 0.3452441

9.79430 — 4.587121

1.41766 + 1.425371

0.697074 — 0.3452441

9.79430 4 4.587121

1.41766 — 1.425371

0.276656 + 0.7246891

8.24979 + 8.496571

—1.26312 — 6.403081

0.276656 — 0.7246891

8.24979 — 8.496571

—1.26312 + 6.403081

—0.258333 4 0.7128931

—0.80898 — 6.731951

—3.03818 + 8.027681

—0.258333 — 0.7128931

—0.80898 + 6.731951

—3.03818 — 8.027681

—0.696113 4 0.2635461

0.85094 + 3.009321

—0.10546 — 3.289691

—0.696113 — 0.2635461

0.85094 — 3.009321

—0.10546 + 3.289691

0.229854 + 0.7030431

—3.75638 + 3.540651

—8.92526 — 5.061961

0.229854 — 0.7030431

—3.75638 — 3.540651

—8.92526 + 5.061961

0.146777 + 0.7087591

6.63287 — 1.053711

—3.70281 — 0.779881

0.146777 — 0.7087591

6.63287 4 1.053711

—3.70281 + 0.779881

—0.190207 + 0.6898751

—1.71125 — 0.361181

—5.08602 — 0.202851

—0.190207 — 0.6898751

1.71125 + 0.361181

—5.08602 + 0.202851

—0.401505 + 0.5561551

13.18090 — 1.812731

3.22900 + 3.774421

—0.401505 — 0.5561551

13.18090 + 1.812731

3.22900 — 3.774421

= —1.358150 + 0.1178211 3.75606 — 0.579661 0
= —1.358150 — 0.1178211 3.75606 + 0.57966.1 0
= —1.341400 + 0.2744231 11.31320 — 2.496521 0
= —1.341400 — 0.2744231 11.31320 + 2.496521 0
= 1.359690 + 0.1792561 4.62275 + 3.190431 0
= 1.359690 — 0.1792561 4.62275 — 3.190431 0

0.346107 + 0.5168771

3.67185 4+ 1.607481

3.24996 — 4.724971

eI ||| ||| (g|e|g g2 |e2|g|g|g|”f|g|g|g|g|g|g|g |

0.346107 — 0.5168771

3.67185 — 1.607481

3.24996 + 4.724971




Solutions to I} V—=1(vol + /=1CS) Cusp shape

uw = 1.372900 + 0.2691361 3.24781 + 3.832801 0
u = 1.372900 — 0.2691361 3.24781 — 3.832801 0
u = 1.405940 4 0.0967551 7.05839 — 1.927701 0
u = 1.405940 — 0.0967551 7.05839 + 1.927701 0
u = —1.39090 + 0.278721 1.39970 — 7.106031 0
u = —1.39090 — 0.278721 1.39970 + 7.106031 0
u = —1.41073 + 0.203371 9.24476 — 4.281441 0
u = —1.41073 — 0.203371 9.24476 + 4.281441 0
u=1.40430 + 0.282691 4.48956 + 10.350907 0
u = 1.40430 — 0.282691 4.48956 — 10.350907 0
u = —1.43192 4 0.093601 16.3256 + 3.30591 0
u = —1.43192 — 0.093601 16.3256 — 3.30591 0
u = —1.41356 + 0.286661 13.6424 — 12.17231 0
u = —1.41356 — 0.286661 13.6424 + 12.17231 0
U 1.43291 + 0.206031 19.0325 + 4.59781 0
u = 1.43291 — 0.206037 19.0325 — 4.59781 0

u = —0.151330 + 0.4409931

—0.189683 — 0.8423641

—4.63984 + 8.093331

u = —0.151330 — 0.4409931

—0.189683 + 0.8423641

—4.63984 — 8.093331




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u'® — 11u* + - — 336u + 41
Co2,C3,C8 u® 202 1
C4,C7 u*® +ut” 4+ 4 150u + 61
Cs, Cg, C10 u48+u47_~_”.+2u+1
C11,C12
€ u*® + 30t -+ du 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 y*® 9yt + .. 421912y + 1681
C2,C3,C8 y48743y47++4y+1
Ca,Cr y® — 27y ... £ 17760y + 3721
€5, C6, C10 v 61y + - Ay +1
C11,C12
Co v T 36y 4+ 1




